

SLOT RECEIPT

GENERATED AT 2025-05-04 23:09 (UTC)



BLOCKCHAIN	BEACON-CHAIN
SLOT ID	<u>11287621</u>
DATE & TIME	Mar 18, 2025 · 05:29 (UTC)
SLOT STATUS	In epoch <u>352,738</u> · CONFIRMED ✔
SLOT FEE	NO FEE

DEPOSITS EVENTS

#	Validator Id	Amount
<u>1</u>	<u>1828978</u>	+ 31.000000000 ETH ↔ 59,132.19 USD
<u>2</u>	<u>1828979</u>	+ 31.000000000 ETH ↔ 59,132.19 USD
<u>3</u>	<u>1828980</u>	+ 31.000000000 ETH ↔ 59,132.19 USD
<u>4</u>	<u>1828981</u>	+ 31.000000000 ETH ↔ 59,132.19 USD
<u>5</u>	<u>1828982</u>	+ 31.000000000 ETH ↔ 59,132.19 USD
<u>6</u>	<u>1830678</u>	+ 32.000000000 ETH ↔ 61,039.68 USD
<u>7</u>	<u>1830679</u>	+ 32.000000000 ETH ↔ 61,039.68 USD

<u>#</u>	<u>Validator Id</u>	Amount
<u>8</u>	<u>1830680</u>	+ 32.000000000 ETH ↔ 61,039.68 USD
<u>9</u>	<u>1830681</u>	+ 32.000000000 ETH ↔ 61,039.68 USD
<u>10</u>	<u>1830682</u>	+ 32.000000000 ETH ↔ 61,039.68 USD
<u>11</u>	<u>1830683</u>	+ 32.000000000 ETH ↔ 61,039.68 USD
<u>12</u>	<u>1830684</u>	+ 32.000000000 ETH ↔ 61,039.68 USD
<u>13</u>	<u>1830685</u>	+ 32.000000000 ETH ↔ 61,039.68 USD
<u>14</u>	<u>1830686</u>	+ 32.000000000 ETH ↔ 61,039.68 USD
<u>15</u>	<u>1830687</u>	+ 32.000000000 ETH ↔ 61,039.68 USD
<u>16</u>	<u>1830688</u>	+ 32.000000000 ETH ↔ 61,039.68 USD
WITHDRAWALS EVENTS		
#	Validator Id	Amount
<u>1</u>	<u>990340</u>	- 0.018915192 ETH ⊘ 36.08 USD
<u>2</u>	<u>990341</u>	- 0.018965606 ETH ⊘ 36.17 USD
<u>3</u>	<u>990342</u>	- 0.019016088 ETH ⊘ 36.27 USD

<u>#</u>	<u>Validator Id</u>	Amount
<u>4</u>	<u>990343</u>	- 0.018948330 ETH 🐼 36.14 USD
<u>5</u>	<u>990344</u>	- 0.018899175 ETH 🐼 36.04 USD
<u>6</u>	<u>990345</u>	- 0.018871944 ETH 🐼 35.99 USD
<u>7</u>	<u>990346</u>	- 0.018416601 ETH 🐼 35.12 USD
<u>8</u>	<u>990347</u>	- 0.018878231 ETH 🐼 36.01 USD
<u>9</u>	<u>990348</u>	- 0.018638553 ETH ③ 35.55 USD
<u>10</u>	<u>990349</u>	- 0.018513083 ETH ⊘ 35.31 USD
<u>11</u>	<u>990350</u>	- 0.019006162 ETH ⊘ 36.25 USD
<u>12</u>	<u>990351</u>	- 0.018937857 ETH ⊘ 36.12 USD
<u>13</u>	<u>990352</u>	- 0.018739210 ETH ③ 35.74 USD
<u>14</u>	<u>990353</u>	- 0.018941045 ETH ③ 36.12 USD
<u>15</u>	<u>990354</u>	- 0.018917716 ETH 🐼 36.08 USD
<u>16</u>	<u>990355</u>	- 0.018400781 ETH ③ 35.09 USD

PROPOSALS EVENTS

#	Validator Id	Amount
<u>1</u>	<u>735090</u>	+ 0.044946350 ETH ⊘ 85.73 USD

* USD values displayed at the time of slot

DISCLAIMER

THIS RECEIPT IS BASED ON PUBLIC DATA FROM THE BEACON-CHAIN BLOCKCHAIN. BLOCKCHAIR MAKES NEITHER WARRANTY THAT THIS RECEIPT IS FREE OF ERRORS, NOR WARRANTY THAT ITS CONTENT IS ACCURATE. BLOCKCHAIR WILL NOT BE RESPONSIBLE OR LIABLE TO YOU FOR ANY LOSS OF ANY KIND, FROM ACTION TAKEN, OR TAKEN IN RELIANCE ON INFORMATION CONTAINED IN THIS RECEIPT. BLOCKCHAIR IS NEITHER A BANK, NOR A PAYMENT PROCESSOR FOR THIS PAYMENT. BLOCKCHAIR DOES NOT PROVIDE SUPPORT IN CASE OF PROBLEMS ASSOCIATED WITH THIS RECEIPT.